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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
D Transect: Drillhole -2 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole -1 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 0 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: .. 
High velocity flow effects are present when the slope is non-zero and posItIve. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
o Transect: Drillhole 1 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
o Transect: Drillhole 1 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

o Transect: Drillhole 1 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

D Transect: Drillhole 2 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
D Transect: Drillhole 2 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 3 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
o Transect: Drillhole 3 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

o Transect: Drillhole 4 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
D Transect: Drillhole 4 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 5 

600 

20.------.------.------,------~----------------------------------------------~ 

N co 
f/) 
Q. 

-N 

C. --<l 

16 ~(p2) = 0.000102 - 0.05270 + 12.079 _ 
R2 = 1 

I ~(p2) = 5E-0502 + 0.01120 
~---~ ~------~------~~~ 

R2 = 0.9905 
12 

8 
~(p2) = 0.03140 

---+----i 
R2 = 0.854 

I 

4 -
~(p2) = 0.04770 - 6.6613 

--~------~~~-+----~~~L-_+------4_- r~------

R2 = 0.9765 

f 
J 

0 ~~~~----_4-----L+-----~----_4------~----~----_4------~----_+----~ 
o 50 100 150 200 250 300 350 400 450 500 550 

Q, cc/min 

I 0 D(P2) -Poly. (D(P2)) - Poly. (D(P2)) - Linear (D(P2)) - Linear (D(P2)) I 

~ 

o 
(JI 



~ .. 
-Z 
"3 

<:) --0 
..r 
Q 
...I 

-
Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
D Transect: Drillhole 5 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect : Drillhole 5 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

D Transect: Drillhole 6 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 

D Transect: Drillhole 6 

." J 

I 

- - I ---
I I 

---r--- -

10910(~(P2)) = 1.161510910(0) - 1.637 
I 

I- /: 
R2 = 0.951 V 

7 - -- f--- - - - -

-

/ 
7 u 

/'1 
fI" 

o~ 
2.35 2.40 2.45 2.50 2.55 

I0910(Q) 
2.60 2.65 2.70 

I 0 log(D(P2)) -Linear (log(D(P2))) I 

I I I I I I I I I I I I t f I I I 

500 550 

0 
-----

---

2.75 

I I 

I 



~ 
C" I 
"3-

0---~ 
~ -C) 

-...tl 

6.80E-02 

6.60E-02 

6.40E-02 -£: 

E 6.20E-02 -(J 
(J --N 

.~ 6.00E-02 
f/) 
c.. 

Q 5.80E-02 -N 
Q. -
<l 5.60E-02 

5.40E-02 

-

-

5.20E-02 
200 

.... 

Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

o Transect: Drillhole 6 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
o Transect: prill hole 7 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 8 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
. high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 9 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 10 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 11 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
o Transect: Drillhole 12 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
D Transect: Drillhole 12 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive, 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 14 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 15 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

o Transect: Drillhole 16 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 16 
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Relationship between steady-state differential pressures squared and flowrate: . 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 17 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 18 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 19 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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. . Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 20 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 

D Transect: Drillhole 20 

I. 
o ' 

/ 
I091O(~(p2)) = 0.934310910(0) - 1.0373 /~ 

R2 = 0.9784 V -

~ 
./ -r--

.,/:/ 
/' 

:/ 
", 

/ 
:/ 

". 

0' 

2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 

I0910(Q) 

o log(D(P2» -Linear (log(D(P2))) I 

r I I I I I I I I I I I I I I 

700 

0 

/ 
/ 

-

2.75 2.80 

I I 

~ 

0'1 
o 



o --

;N 
e-
~ 
CJ --0 
v -~ 
'vJ 

6.7E-02 

6.5E-02 

-.5 6.3E-02 
E -() 
() --N 
.~ 6.1E-02 
tA 
Q. 

a --a.. 5.9E-02 --<l 

5.7E-02 

5.5E-02 
150 

50 

45 -

40 -

35 

N 30 -cv 
tA 
Q. 
~ 25 -N c.. -<l 20 

Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 20 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate 'intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 21 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 21 

6.8E-02 -,--------.---------:--------------;---"--------.--------,.----------;-----.-------, 

6.6E-02 --+----+--~t__--+------+- o 

6.4E-02 -r----i 
~(p2)/Q = 2E-05Q + 0.0479 

R2 = 0.4128 

E 6.2E-02 -(.) 
(.) --N 
.! 6.0E-02 ----+-----+----­ 1 
f/) 
C. 

Q 5.8E-02 -N 
0.. -
<I 5.6E-02 

5.4E-02 ------+--- -- -- --~------~---

5.2E-02 -!---------i--------.....,....------~------lo..li--------+----------,---------,---------r------------l 

300 350 400 450 500 550 600 650 700 750 

Q, cc/min 

I 0 O(P2)/Q -Linear (O(P2)/Q) I 



-j::J- ~ 

'Z 
~ ..., 

a --
c:::Io 
.J' 
\:") 

.J 

--:7'J 
~ 
?> 
C) ----. 
~ 
J' -~ 
-.rl 

N ns 
If) 
Q. -N 

Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 22 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
o Transect: Drillhole 22 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
o Transect: Drillhole 23 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 

D Transect: Drillhole 24 
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high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 24 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 25 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 26 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 

D Transect: Drillhole 26 

I 

1091O(~(p2)) = 0.88191091O(Q) - 0.9059 
--

R2 = 0.9086 

I 
I T-
I I 

--f - -- 0 - - -

j I 
-

550 600 

0 

---

1.02+-----~----~--____ ~----~----~~----~----_+------~----~----~----~ 
2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 

10910(Q) 
2.65 2.70 2.75 2.80 

I 0 log(D(P2)) -Linear (log(D(P2))) I 

I I I I I I I I I I I I I I I I I I 



.. ,. 

~ 
"2 
-:3 -
0 -
~ 

~ 

~ 

2 
"3 
a -c 
..JJ -
~ 

-s:::: 
E -(J 
(J --N 
to 
In 
c. 
a --N 
Q. -<I 

N 
to 

, I 

7.4E-02 

7.1 E-02 

6.8E-02 

6.5E-02 

6.2E-02 -

5.9E-02 

5.6E-02 

5.3E-02 

5.0E-02 
150 

I I I I / I I I I I I 

-

Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
o Transect: Drillhole 27 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
o Transect: Drillhole 27 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

o Transect: Drillhole 27 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
o Transect: Drillhole 28 
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high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 28 

8.1 E-02 ,----.--------,------:-------,-----.-- -----,----.------- ..,---------, 

J o 
7.7E-02 --

7.3E-02 

~(p2)/Q = -2E-05Q + 0.0763 
R2 = 0.0977 

1- - - - --1-

\---+- L 
o 

tl 6.9E-02 -- 1--- I 
t ---N co 

If) 

C. 6.5E-02 t­
t 

a --N 

a. 
<f 6.1E-02 1,- 1 

N co 
If) 
c. 

I ;" 
5.7E-02 -+------f ---1-
5.3E-02 -+-----i-------,-----i-' - ----,-I ___ ---,---__ O_-----, ___ ~-----,----___i 

150 200 250 300 350 400 450 500 

Q, cc/min 

I 0 D(P2)/Q - Linear (D(P2)/Q) I 

Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 29 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 29 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 

D Transect: Drillhole 30 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 

high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 
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Relationship between steady-state differential pressures squared and flowrate: 

If relationship is linear, with the ordinate intercept nearly zero, 
there is no high velocity flow effect. 
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___ +---j~(p2) = 0.000202 _ 0.05710 + 16.912 -
R2 = 1 

~(p2) = 7E-0502 + 0.03501---t- ----+-------:211'~ 

R2 = 0.9708 

1~(p2) ~ Oo0714Qf 

----+--1 R2 = 0.9073 

__ ~---+----------+~~~~-~~~--------r---------~------

__ -+---_ ~(p2) = 0.08440 - 6.4078----f----

R2 = 0.9344 I----+--

I 
100 200 300 400 500 600 

Q, cc/min 

o D(P2) -Poly. (D(P2)) - Poly. (D(P2)) - Linear (D(P2)) - Linear (D(P2)) I 

700 



-:P 
2' 
;,0 .. ". 

C 

~ --... 
~ 

vi 

"7V 
C-
3 
<:) -
0 
vJ --~ VI 

--N 
Q. -<l -0 ... 
C) 
0 

-r::: .-
E -(J 
(J --N co .-
II> 
Q. 
~ a --

1.72 

1.62 1-

1.52 

1.42 -

1.32 

1.22 

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 31 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 32 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 32 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 33 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

D Transect: Drillhole 33 
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Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 34 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 

High velocity flow effects are present when the slope is non-zero and positive. 
o Transect: Drillhole 34 

0 
I I 

I 

~(p2)/Q = -2E-06Q + 0.0585 
I 

-
R2 = 0.002 

_." 

- -

0 

.- - -

-- - -

I 
- - ~ - --- -

I 

~-:." "" 

I 

-+----- - -

-t 
--- -

~. 

- - - ._-I-- - -

0 
200 300 400 500 600 

Q, cc/min 

I 0 D(P2)/Q - Linear (D(P2)/Q) I 

Relationship between steady-state differential pressures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
o Transect: Drillhole 35 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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. . Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

o Transect: Drillhole 35 
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Relationship between steady-state differential pre~ures squared and flowrate: 
If relationship is linear, with the ordinate intercept nearly zero, 

there is no high velocity flow effect. 
D Transect: Drillhole 36 
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of 
high-velocity flow effects (when the slope is greater than unity) 
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Final check for high velocity flow effects: 
High velocity flow effects are present when the slope is non-zero and positive. 

o Transect: Drillhole 36 
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